DIRECTORATE OF SCHOOL EDUCATION

=~ TAMILNADU
11NPCB05 NEET PRACTICE QUESTIONS Time: 1.15 hrs
(2023-24) (TEST- 5) Total Marks: 240

General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries
4 marks. For each incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.
3. Extra sheet for Rough work purpose, will be given by the invigilator

PHYSICS Q. No. 1to 15 C) 240N, 96N D) 260 N, 96 N
1. A body of mass 8 kg is hanging below T
another body of mass 12 kg. The 1
combination is being pulled by a string A
with an acceleration of 2.2 ms2 The 12kg
tension T, and T, will be (g = 9.8 m/s?)
A)200 N, 80N B) 220N, 90N a
C) 240N, 96N D) 260 N, 96 N » T2
T1
. 8kg
12kg 2. Two blocks are in contact on a friction
a less table. One has mass m and other
has mass 2m. A force F is applied on 2m
T T2 as shown in figure. Now the same force
F is applied from the right on m. in the
two cases respectively. The ratio of force
8kg of contact between the two block will be.
8 &.& Blemmuwerer Gp @um(heT 12 2mro b £l om m
5.8 Hleomwyerer Gunpeflesr Sip TTTTTTTT7 TTTT7T77
uLSlev s qwenm Osmmbisei U A) Same B)1:2
ul_(poirergl.  Souellemesorty 2.2 C)2:1 D)1:3
Bell?  phHesHSH 2 étor R Sir60or (i &L _60L_&6IT 6(1H
Bovameor HWDTL E(R&HHIU[H SMG)- o mmbeubhm GuemLu &t Q&M _(hé
oteotley Ggedloms T, whmpi T, O&nesor(HoTengl. 6(H  &L_coL ulledr
(g = 9.8 Bai12) iBlemm M b mib wHEDI(H &L 6mL_uSledr
A)200 N, 80 N B) 220N, 90N Hleom 2m. F etedim oflems 2m
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Blemmujerer &L emLulledr B UL SSHlov
&ITL_Lq UL|6IT6ITUIT M) @swevu(h Slms.
Goopd Bs ety oNemws F
Bleom mesr  euevg UMSSHENBHS
@&FmIS5UUH SDE. SMHeLoL_sotlest
@& aSlemssatler aS&I50.

F
2m m<F_—>2mm

Irrrrrry ITTTTTTT

A) norg) B)1:2
C)2:1 D)1:3

3. A horizontal force 25 N is necessary to
just hold a block stationary against a
wall. The coefcient of friction between
the block and wall is 0.4 the weight of
the block is

L~
L~
25N —
— —
L~
A)25N B)20 N
C)10N D) 5N
&L_60L 6Q6OTEM greuiflev

a|blemnevulley &g iusHaTeoT
SooL ol L 6Slems 25N. &1°_ 6oL &G
GFU(HhHGHD oo Uul L 2 [mie)

(&6T&LD 0.4 6160116V, H1°_60L_UIl65T 6TEmL
L~

L~
25N ”
_' ;

A) 25N B) 20 N
C) 10N D) 5N

4. A block of mass M is pulled along a

horizontal friction less surface by a rope
of mass m. If a force p is applied at the
free end of the rope. The force exerted
by the rope on the block will be

M+m B) M+m
P M P

A)

M P
M
©) m D) M/t s

m Hlemp O&neor o sullbmmey

M fBleom ©O&neor. &U_omL 66T m)
o mmieubm  HleoLdser  urdllev
ISYOL LI GF 31T sudlpdledr
wm Wovenullev p erdIm  6SlemE
@&FmIS5UUH Slg). sUIm &1 emL_ullest

Gweb @&FW6LU(H HGHID 6Slens
A) M +m B) M+m
P M P
M P
M
C) M +m D) A/[er

5. Two bodies of mass 3 kg and 4 kg
are suspended at the ends of mass
less string passing over a friction less
pully. The acceleration of the system is
(g = 9.8 m/s?)

A) 4.9 m/s?
B) 2.45 m/s?
C) 1.4 m/s?
D) 9.5 m/s?

3 kg whmb 4 kg Hlemmuerer Sm
@un(pL_seiT Hlemmuwbm 61 SullHmirev
SoooordssUUl_ (2 mmieubm &0l
oudlwrs GscudSlngl.(g = 9.8 m/s?)
eteotleb @IBMEVUINGST (p(h &L

A) 4.9 m/s?

B) 2.45 m/s?

C) 1.4 m/s?

D) 9.5 m/s?

6. Two masses of 5 kg and 10 kg are
connected to a pully as shown what

will be the acceleration of the system
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(g — acceleration due to gravity)

5kg

SERCEA

5 &8 wHmb 10 &.& Hlewmujeirer

Smounersar  sU0  cpesTidlev
UL 5lev &S’_1qw UMM
&606001 88 8 UL (1) 6T 6T 60T oTcofle
@sTE&Uller (WEH&HD (g — 6resTus)
ye) Friftiy (p(h &&1b)

5kg

10kg

Ne BIY, 0% DY,

7. A block of weight 4 kg is resting on a
smooth horizontal plane. If it is struck
by a jet of water at the force of 20N
and at the speed of 10 m/s the initial
acceleration of the block is

A) 15 m/s? B) 10 m/s?
C) 2.5 m/s? D) 5 m/s?
4 5.5 blemmuyeirer &L_60L

QP IPUIUNGST SlemL_& &6 UTUiSleb 6pilio)
Blemevullev 2_eiterg. 20 N eSlem&wL_6dr

10 mis Gousddlov O&Fcoend Bif
@22l  caTOIESHHG ©eusifleu(md
8 600T GO0T [TIT6L @ursopmiorm
@&swduU’ LTev &S 2 6oor(HLId
W H &b

A) 15 m/s? B) 10 m/s?
C) 2.5 m/s? D) 5 m/s?

8. Time period of simple pendulum is
T inside a lift when the lift is stationary
If the lift moves up ward with as
acceleration g/2 then time period of the
pendulum will be

A)BT B)2i
3 2
C) 5T D) {3 !

QUH Hooll 2e1560165T Di6moVEY| HTEULD
T o dromr 2ascv opcdimy oSel6L
&Sl cpedrdley

cmoussIUL_(HoTergl. WleTgnésl Gy

2 _6iTerm Oledr

Coresl 9/2 WphHéssHdlev G&csTDTH
& 60t 2e1 &569165T Diemeve)] HITeVID

A)\3T B) 23
3 2
C) 5 T D) {3 T

9. Amonkey of mass 50 kg climbs on a rope
which can withstand the tension T of 350
N. If monkey initially climb down with an
acceleration of 4m/s2 then climb up with
an acceleration of 5 m/s2. Choose the
correct option (g = 10 m/s?)

A) T =700 N while climbing upward
B) T =350 N while going downward

C) Rope will break while climbing
upward
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10.

1.

D) Rope will brock will

downward

climbing

50 &1.& Blempujeirer @mbiE G6OTM)

81 oo T350 N snbisH&se 1q.1W

SO @TH TOEDE. WsHS6H

sWinlev  4m/s2 whH&ESHSl0 &

Curé&Syb Glesr 5 m/s2. (p(HsesH 60

GuwevBrmé&Syb BaI&SIng. g = 10 m/

s?) ereoflen

AT =
Gurgl &g afons

B) T =350 N &1p Crné sl memd Gung)

C) Gwev GuméssHl armib Gurng sullm
SDIHE SI[HD

D) &1 Cunéél Soibigb Gung sullm
SDIHE SI[HD

A person standing on a spring balance

inside a stationary lift measures 60

kg the weight of the person if the lift

descends with uniform down ward

acceleration of 1.8 m/s? will be

700 N Guevb CBMe&H m&(HD

A) 492 N B) 600 N

C) 1092 N D) Zero

60 &8 eromLweiTor Wwefls6T Gy
Hlemeuulleb 2 eter  WleoTHTE SN0
@omiselltu’ L &@peT  6Slebedley
Blib&lomi. 1.8 m/s? rneor (P (H &5 Sl6v

WDsTgTEHS S1PlmhiE b Gung
Lo 6ol & 6ofl 66T 6TEmL

A) 492 N B) 600 N

C) 1092 N D) Zero

A block of mass m is resting on a
smooth horizontal surface. One end of a
uniform rope of mass m/3 is fixed to the
block which is pulled in the horizontal
direction by applying a force F at other
end

12.

13.

7F 1
- —F
A) B) g
1 1
—F —F
C) g D) ¢
m  bleopuweiter &L QGTM
cupaupliunesr  SleoLsser  urlidlev

oo Hlemovulleb 2 cdrorg  Fomeor

m/3  Hleomwerer &sullm  6dTMOIGET
W) (P om60T &L 6mL_l|L_60T
Smeor&HEUUL () oTer gl sudlpledr

woioemeoruiles M/3  eredim  ellemL

@&weLU_(f &L oL eow SleoL e

Slomsuller  Gp&Slmg.  sudlbdlest
1 (H eleb GFwWeLU(H D S(peSlens
7F e
1 1
—F —F
C) 2 D) 2
A shell of mass 10 kg is moving with

velocity of 10 ms-1 when it blasts and
forms two parts of mass 9 kg and 1 kg
respectively. Ifthe 1st mass is stationary
the velocity of the second is

A) 1 m/s B) 10 m/s
C) 100 m/s D) 1000 m/s

10 kg iBlemmueirer ©6ig & 60T ([H 65T M)
10 ms-1 GeusdSlov Q&FSTM Rl &8I
9 &.8 wHmid 1 &.& HlevmuemL w
uGSlsornas YIfl&lng.. Wwsaed Hleom
Hlemeovwns SmbsTey  SresorL_mb
Hlemmuilesr SlemaGeussid

A)1m/s B) 10 m/s

C) 100 m/s D) 1000 m/s

A man is standing at a spring platform
reading of the spring balance is 60 kg
at If Man jumps outside platform then
reading of the spring balance.
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A) First increases then decreases to
zero

B) Decreases

C) Increases

D) Remains same

(15 WeoflsI &(HeT llevedlesr H1™ 160

HoSomi. &apetetlev 60  H.S&

cTooLwns  doteil &M (HSlms)

b 6ol & 6o GuemLu9l6S(mHiHg)

@eueflliymons &GHSlHSMev &i(HeTelley

&L (H1b e[

A) pgoeSler iSlsfGE Getr @&eomibe)
&Sl

B) @oon&ling

C) @15lafs6Emg)

D) wrors

14. Which of the following graph depicts
spring constant k verses length | of the
spring correctly.

s

A) K| i B) ¥
L

K K

C) D)
L

Sle5Teu(IHLD 6UEDTUL IS 6iTlev

&(moreNlevedledr g (peirelley  mpdled)

K mbmib Berd L &@ oo Guwneort
@sLiiGlemeor & MILGI([H eug)

B) ¥

A) K| i
L
K
C)
L

Fy

15. A force of 10 newton acts on a body
of mass 20 kg for 10 seconds then
changes in momentum is

A) 5 kg m/s
C) 200 kg m/s

B) 100 kg m/s
D) 1000 kg m/s

20 kg Hlemmuwerer Gunpeflesr Bg)
10 N afleoL 10 eSleormg GrI&H S (&G

@&wevUL_L_meL 2_HsLmmun(h

A) 5 kg m/s
C) 200 kg m/s

B) 100 kg m/s
D) 1000 kg m/s

CHEMISTRY Q. No. 16 to 30

16. Which of the following is electron
deficient?

A) (BH,), B) PH,
C) (CH,), D) (SiH,),
9165163 (M 66T UMD MHl6L 6T6VEL_[TT6E0T

&oonun(h 2_emLw G&Fb 618)?

A) (BH,),
C) (CH,),

B) PH,
D) (SiH,),

17. XeF, is isostructural with

A) SbCl, B) BaCl,
C) TeF, D) ICI,
XeF, 2 LT 55 olgeuemly
2 6oL WG

A) SbCl, B) BaCl,
C) TeF, D) ICI,

18. Which of the following is a polar
molecule?

A) SiF, B) XeF,
C) BF, D) SF,
9165163 (M 66T UMD MHl6L SI(H6Y
epovd e M) 6187
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A) SiF,
C) BF,

B) XeF,
D) SF,

19. Which of the following is paramagnetic?

A)CN B) NO*
C)CO D) NO,
UM &b & 60T 6mLDLL 6DL_LIS) 6T8)?

A)CN B) NO*
C)CO D) NO,

20. Dipole induced dipole interactions are

21.

present in which of the following pairs?

A) HCI, He B) SiF,, He

C) H,0, Alcohol D) Cl,, CCl,
Sledreupld  Somemrsofley  erlev
S(H (WP 6m60T, HIT60oTL_UUL_L_ &(IH(Lp 60601
SUFE 2_coL ws)?

A) HCI, He B) SiF,, He

C) H,0, Alcohol D) Cl,, CCl,

Be?* is isoelectronic with which of the
following ions?

A) H* B) Li*

C) Na* D) Mg
SlesToupld  Swesfleseflev  org  Be?
SwetlyLedr  ®55 uo  Geverfl

6T6LSL_ITITGOT e emL_WG)?
A) H* B) Li*
C) Na* D) Mg?*

22. Which of the following molecules has

the maximum dipole moment?

A) CO, B) CH,

C) NH, D) NF,
Slesrau(moucoTaumb ey 61g Wles isls
SHpomeor 2_hS Sy 2oL Wws)?
A) CO, B) CH,

C) NH, D) NF,

23. Which one of the following species

contains plane triangular shape?

A) N3 B) NO;

C) NO; D) CO,

Gle5T6u (M 60T 6UMH MHl6L o185 FLD&6IT
(W& Bsmevor SiemolIy allq QD
2 oL Wg)?

A) N3 B) NO;

C) NO; D) CO,

24. Which of the following species contains

equal number of o and IT bonds?

A) HCOy B) XeO,

C) (CN), D) CH,(CN),

65T 6u(MH6U6HT UM MHl6L 618 &0
eTevor ol emsulevneor 0 wHmD 1
SlemeooTUIL & 606 2_ 6oL Wg)?

A) HCOy B) XeO,

C) (CN)z D) CHz (CN)z

25. Which of the following pairs of ions are

isoelectronic and iso structural?

A) CO>,S0* B) CIO;, COZ”

C) SO>,NO; D) ClO;, SO

Glesrau(pld Swesllserfley o1hs & omeoor
058 UmGlalefl eTovsL mmedr Diemioliy

LOMID &S olgeN  DieowUyb

2 _coLwgi?
A) CO;,80; B) ClO;, CO;”
C) SO, NO; D) ClO;, SOF”

26. Which of the following options represent

the correct bond order?
A) 0;>0,>0; B) 0,<0,<0;
C) 0,>0,<0; D) 0,<0,>0;
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65T 62 (IHGU6DT UMD MHl6L &iflwreor
GlemeoortIys ST ouflomsomwd
&DI&EDE?

A) 0;>0,>0; B) 0,<0,<0;

C) 0;>0,<0; D) 0,<0,>0;

27. The species, having bond angles of

120°is?
A) NCI, B) BCI,
C) PH, D) CIF,

Slemeooriiyd Gamesorid 120° 2 _emLws)

o18)?
A) NCI,

C) PH,

B) BCI,
D) CIF,

28. The species, having bond angles of

compound is iso electronic and iso
structural?

A) IBr; , XeF, B) IF,, XeF,

C) BeCl,, XeF, D) Tel,, XeF,

6055 UmGlaleif] 6TevéL" TTedT Siemliyb,
055 o6lg6N  Dcowlyb 2 _6mL W

Geiiorhisser Gleor &emeoorsseiflev 618)?

A) IBr, , XeF, B) IF;, XeF,

C) BeCl,, XeF, D) Tel,, XeF,

29. Which one of the following pairs of

species have the same bond order?
A) CN~,CO
C) CO, NO

B)N,,0,

D) 0%, NO*
Br Glemewriys sSID 2 6oL
Sormreo1&6iT Y65TaI(Heu6oTeuH Ml6b 6T8)?

A) CN~,CO B) M0,

C) 0*, NO* D) 0* NO*

30. Predict the correct order among the

following

A)bp—-bp>Ilp—-bp>Ip-Ip
B)lp—bp>bp—-bp>Ip—Ip
C)lp—Ip>Ilp—bp>bp-bp
D)lp—Ip>bp—-bp>Ip—-Dbp
GlesraupoucTeumbmdley  o1g  Fflwmeor
ouflem&wm@ b
A)bp—-bp>Ilp—-bp>Ip-Ip
B)lp—bp>bp—-bp>Ip—Ip
C)lp—Ip>Ilp—bp>bp-bp
D)lp—Ip>bp—-bp>Ip—-Dbp

BIOLOGY (BOTANY) Q. No. 31 to 45

31. Phyllode is present in

A) Asparagus

B) Euphorbia

C) Australian Acacia
D) Opuntia

&606050\HMdl6v & 60T (h STevoTUIL(h 68
A) Siehourme 6o

B) wGumiGlwir

C) & 6i081CreSli 1@& Fwir

D) sptiucsrerxghwim

32. Which of the following is not a stem

modification?

A) Tendrils of cucumber

B) Flattened structure of Opuntia
C) Pitcher of Nepenthes

D) Thorns of citrus

SDHEOTLUDMICT 6T

OMH MI(H DI6L6V

A) y, &ewflullesr ubh M &b

B) sptiustraglwumeSlesr
8600r (b

C) @mbuiubh&eSl6oT (& (h ceu

& 600TLq. 60T

&L_6OL_WIT6oT

D) erepidl& em&udiest (pL_seir
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33. How many plants among these have

opposite phyllotaxy —(China rose,
Ocimum, Sunflower, Mustard, Alstonia,
Guava, Calotropis and Nerium)

A) Three B) Four
C) Five D) Two
erSliflemevemine) &reoorlIu(h b

STOUNTAIGET 6788 6meoT — (cm&eorm Grmeio,

< &oid, & wambs), &b &,
Stovorv@Leoflwr, @&smiwm,  6T(H&E
whHmIb Sirerl)

A) epedr) B) mricor&)

C) b g D) &esor(p

34. Identify wrong statement with reference

to root zone

A) Root hairs found in meristematic
zone

B) Meristematic zone consists of actively
dividing cells

C) Meristematic zone protected by root
cap

D) Zone of elongation is above the
meristematic zone

Gour weILeVD (GHMSS SeummeoT

e hm) 618)?

A) euernné s LD6BOTL_6V& Sl6v
Gourgnellseir sresortiu(h Sms)

B) suenmné e wetor_cusSHlev @QSMLiihs)
UGUUDL WD O1&F6LE6IT 2_6iTorm &)l

C) euennné s LD 6TOTL_6V& & 6mr60T
Gouewlg UTGIBTESSIDS)

D) @sevBl_ & u@Slwneorg ocuenmnds

6ooTL_6v5 SIH(& Gev 2_dTormg)

35. Multiple root cap is found in

A) Banyan
C) Pistia

B) Pandanus
D) Hibiscus

3BH &GS @ourt ewlg. o1Slov
&SneoriuB Smg)?
A) Sp6uloid B) umesorL_cor 60

C) Qletoq wim D) smam§leingeiv

36. Root pockets are found in

A) Banyan B) Pandanus

C) Pistia D) Hibiscus

Beuremus 6T oS SHMIT S SHlev
seoortu(h Sl g)?

A) Sp6ulDIibd B) umesorL_eot 60

C) Qleroig wir D) ememleiva o

37. Plants produce flowers and fruits only

once and die after a vegetative growth
of several years are called

A) Polycarpic perennials

B) Monocarpic perennials

C) Biennials

D) Annuals

sesraumpnreflev sppemm WL (HGw
58 MG S Gl65T 1biq UEm6

A) ueuasMUUILY STEUNTAIS 6T

B) som ssmiuy Sreunmbiseir

C) FrTmesor () STEITTHIS 61T

D) gemmedor (h STaUTThIS 61T

38. Breathing root is not a characteristic

feature of

A) Rhizophora
C) Avicennia

B) Bruguiera
D) Psychotria
soung Gali&eiT 6T1h G ST & &l 60T LsorL]
Si6L6VL?
A) eor@am@ummm
B). yamp&om
C) el oot
)

D) eo&a@am_flwm

Copyright @ THE ALCHEMIST CONSULTANCY



39. Assertion: Fibrous root system is the

characteristic feature of Monocots.

Reason: In monocots Primary root of
the seedling (radicle) is short lived and
bunch of lateral roots arise from various
regions.
A) Assertion and Reason are true and
Reason is correct explanation.
B) Assertion and Reason are true but
Reason is not a correct explanation.
C) Assertion is true but reason is false
D) Both assertion and reason are false
s Mm) :
R(HeNSSlemov HSTaITSS6sT 6p(IH UesorL
BGD

&Fov69l  Geuiser  6TGOTUS)

sMreord: HISSlomen STaurs et
GoufloS(p1b 8!
Couf GHmISIW &mevld GUMPEFer QLS.
ouL_1q.691(1HH &)

6U(HLD (P & 60T 6D

Q&5 518 UsH&H
CanedrmSIms

A) s g WwHmID snresord &iresor(hb
&), elem & a1d &flwnreorg)

B) sabm whHmib smresord &Hiredor (hLb
&, sflwreor e9ler& &b Sicvov,

C) saibm &ifl sMTE0ID SH6um)

D) e m) Houm) sMreoorid &ifl

40. Which of the following belongs to stilt

root?

A) Rhizophora and Pandanus
B) Rhizophora and Dahlia

D) Pandanus and Vitis

D) Maranta and Pandanus
SpsaoTLcubmiet  6Tomey  (WL_(h
@ourr & oo GUH my6iTomg)?

A) 6o Gems. GumT o fH ML LIGTTL_TEoT 61D
B) eor@amsGumm b mub LmeSwim

C) uegorL_eoT 60 W HMID 6MEILG 61D

D) wrmesorLir Lo mitb LGSTL_IT60T 610

41

42.

43. Compound tunicated bulb seen in

. Velamen

absorb  moisture from

atmosphere found in

A) Bryophyllum and Vanda

B) Bryophyllum and Begonia

C) Vanda and Dendrobium

D) Cuscuta and Vanda

cueifloesor_cus SledSl(pbg FITUUSS S
2 Hlghe 2 Hoyb
SiTeoorUIU(h 6ug)

@ eu6uTGID 66T

A) Slemr@umileveuid WwHmb GITEsoTLIT

B) Qemr@uwmilsveuid i mub
Gu@aseoflwm

C) eunmesorLim wHmd ©_eor” GrmSlwid

D) &6io@& LT o mitb euImesorL_IT

Assimilatory roots are the characteristic

feature of

A
B
C
D

Tinospora and Taeniophyllum
Tinospora and Vanda
Tinospora and Cuscuta
Taeniophyllum and Viscum

N N S S

ool Gt 8 Goulisoir 618 65T Uesory?

A) emL_Beormero@uimm WHmIb
LeeoflGuimSileveutd

B) emL_@eormero@unmm whmub cumesorLim

C). eoL_Beormeounmm WHMID &6M0ELIT

D). LeeoflGwmSlebeutd wHmib eSlevsid

A) Allium cepa B) Allium sativum
C) Canna D) Colchicum
ol (h 2 _GOMILEDL_U &Wlpb
SiTeoorUu(h 6ug)

A) Si6veSuib Fur

B) <i6b6eSluib &FemL_6uib
C) sevauremLp

D) Gsmevd&sid
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44. Which of the following is not a
characteristic feature of leaf?

A) Endogenous origin

B) Does not possess apical bud

C) Presence of chlorophyll

D) Born at the node of the stem
Spscor_cubiley cremey  Eemevudlest

U600TL| <H6L6V?

A) 91558 mb mie
B) misofl @™ (i smesrtiu(y sudlevemev
C) uem&wib UHMI(HS 6L
D) s evor1q 651 &atiu@G Sluldlev
CanedrmSms)

45. Which of the following is not a
characteristic feature of compound
leaf?

A) Main rachis bears more than one
lamina surface called leaflets.

B) One axillary bud in the axil of every
leaflets.

C) One axillary bud in the axil of whole
compound leaf

D) Leaflets do not possess axillary buds.

E1pa6vorL_euh ey 618) oL Lg.6mevuslesT

U600TL| <D16V6V?

A) ga11"_1q 6m6vSITIDY 66T MG
@Guhul L  sel 1gemev  urUSlemeot
@&nesoTL_cmey BH5m@ &Hblemev

eT6oT M) @uwi’

B) spchi@eun(m Hiblemev
Gasewor S Slopitd 69 (15 Gasmevor G ()
&reooru(h b

C) Qwn$s &611"_1q 6meuuSledt

GaneorsSlov (s @asmeoor G (B
&resoru(h b
D) flbmlemevaseir @simesr @I Lq 6meot

QubdgpUiuSlevemev.
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BIOLOGY (ZOOLOGY) Q. No. 46 to 60

46.Which of the following mammalian
tissues is associated with filtration and
diffusion?

A) Simple columnar epithelium

B) Simple squamous epithelium

C) Stratified squamous epithelium

D) Stratified columnar epithelium

GlesTeu(mid 6TiHh s Slabaer

une”_ g &eiflev aug &L (HH6v WHmID

261 (i (HEUGYIL_65T OSTL_[L6mL_Wg)?

A) ereiflw gmetor euig.6u 6191 69MWID

(B) ereiflw H1°_6mL_ 61 63 6191&H65MLID

C) i &©& HL_6mL alg 6 6T19156eShub

(D) Si(h && gesorolg 6 6TNE6SwIb.
47. Component of blood responsible for

producing antibodies is

A) Thrombocytes
B) Monocytes

C) Erythrocytes
D) Lymphocytes

D4,65T1Lq UG & 60 6IT (Gmpmiy
eTSlV@UN(HemeT) 2 Hussl
Q&FINS (& SNTOTLNGOT &35 855 60T
o M)
A) 8155551 [ S&6r
(5CrmbBumrema L’ (1) &6iT)

B) Gun@eormem&L”_(h so6ir
C) 81658 Hlouiugm)dsoir
(e1f15Camemet’ () &oiT)
D) 6Slib@unem&L”_(f s6ir

48. Which one of the following contains the
largest quantity of extracellular material?

A
B
C
D

Myelinated nerve fibres
Striated muscle
Areolar tissue

Stratified epithelium
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Slesrau(poucoraubdley o181 Al
Sorey OFcv Oouefl  GunpomoTs
©\&metor (b 6iTor &)?
A) oweSledt

S 60L& 6IT
B) euifls 5 6m&
C) arflGwmevnii SHla
D) <i(h &8 6181H6Swib.

2 _60MmU6DL W bbby

49. Which of the following is not secreted by

50.

51.

exocrine glands?

Slesrau(moucTauDMIcHL 618l HT6T(WETOIT
&0 6oL & T&H&IU(H eulevemov?

A) &g O RG

B) o1 6001 G\600T1)

C)urmev

D) &cora6v

What is the main function of blood?

A) Protection of body

B) Transport of various substances
C) pH buffering

D) Maintaining Osmotic balance.

Br685 5601 (pdSHWw uesil eTedTCOT?
A) 2 1 6Slemeott) ungIsTUIUS)
B) usvBaum) CIUN(HL_& 606 & HL_& 5860

C) pH &nmhi&sev

D) s6q) (fuTaIcy &iblemevemiu
urmoifls &ev

In which tissues, Fibres and fibroblasts

are completely packed?

A) Dense regular connective tissues
B) Dense irregular connective tissue
C)BothAand B

D) Cartilage

11

oThd Sladsarfloy, Brflemwser wHmID
S6oUIGTmSlemmevl”_&6T (L (LIS
Hlirb Gl eirereor?
A) SiLiieumeot Fomeor

SomeorUys S & s eiflev

B) SiLifeurmeor Frbm

SemerlIL & S a & aoifle
C) (A) b mib (B) &irevoriq opitd
D) &5 05 gibysefleh
52. Which ofthefollowingis nota connective
tissue?

A) Blood
B) Adipose tissue
C) Cartilage

D) Neuroglia
Slesrau(pd

Slasserflev
S oememrlilsSHlar Dievev?

oT8l

A) 81681

B) <iq Bumeiv Slar
C) &S0 s amibY|
D) Bl Grréeflwm

53. Which of the following are excitable
cells?

A) Muscle cells

B) Neural cells
C)BothAand B

D) Goblet cells

65T 6u(MH6U6HT UM MHl6L 6T6m6)
Slomi &Sy mid C\FcLE&6T?

A) & & 06T

B) bbby ©&6vaseir

C)A whmib B

D) @snliemu 6u1q 63 O\&F6L& 6T
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54. Read the following statements and

select the correct option

i) Blood cells secrete fibres of structural
proteins called collagen and elastin

ii) Neuroglial cells protect and support
the nephrons

iii) Osteocytes are present in spaces
called lacunae

iv)Striated muscle fibres are bundled
together in a parallel fashion

v) Biceps are involuntary and striated.

A) Statements (iii) and (iv) are incorrect

B) Statement (ii) and (iv) are incorrect

C)

)

Statement (i) and (iii) are incorrect

D) Statements  (i),(ii) and (v) are
incorrect.

SledTeu(IHLD &6 H MlemeoTL)

ulg &8 Fflwreor ollemL_omis

GaiibOs(H &HaoHa|b

i) 155 NG &8 6T 18 MTEVITERESTLOMH MD
6TOVIT6IVIQ.60T 6TeoTUL(HD &1L 6oty
LTS S6mLp8606IT &I & 85657 6o

i) hlyy, Gon&leflweh Gl&evaseit
O UITITG5T85(6Th &5(&) UMGHISMUL|D
BBHTOYD &(HEITDEOT.

(i) evm@Geor sTEOTUIL(H D
SooL_Oeueflserfley
6019 CITem &L (1 &6iT &Hemm
&meoorlIu(H S g).

iv) &Hemmwing eiflujemL_wi

HoNEF SMIPGH6IT &360600TILING
SIEMLDIH I 6IT 61T 60T .

V) 6ou@ &6 (&(1HSM6VE & D& 6T )
&H6dTeoll & emEWwImeoT6mey hH M
auifliyemL_weme.

A) sa Hmyserr (jii) oHmb (iv)

SOUMITEOT 66

B) g mysserr (i) oH mib (iv)

SOUMITEOT 66
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C) ga Hmis6i (i) myb(iii) &eumimeot 6med
D) se.hmisseir (i), (i) odHmid (v)
&HOUMDITEOT 616,
55. Choose the correctly matched pair

A) Inner lining of salivary ducts —Ciliated
epithelium

B) Moist surface of buccal
Glandular epithelium

C.)Tubular parts of nephrons-Cuboidal
epithelium

D) Inner  surface of
Squamous epithelium.

sflursl  Qur@pbSlu  Semeworemwd

cavity-

bronchioles-

Caiib0\5(H d&ob.

A)2 1Bl BreTgSlesre 1 um iHEHE
- @ miullemlp 6191565MwIb

B)©@\&evor 6ooL_85 (& DSl 6o FFITLDITGOT

Guhurtiy - oy et9&eShwuib

C) @punmestaseflesr @GHwev uGH -
HOTESHT Qg 6 6TNSeSwib

D) ey & & & &lomert [miesor &LpeSl 6ot
2 " ugdy — L_6mL 6lq 6

611915 60D,

56. The colour in the brown fat is due to

A) Its larger capacity for generating heat

B) Large number of mitochondria
present

C)A high concentration of
containing myoglobin pigments

D) presence of chromaotophores

iron

uoy Bim Esmriy  HDsSSHG

SMT6ooTONS &(HUUG)I

A) 31518 SieTe| Oeulu 2_HudS)

B) 215)& 616001 6v0fl & cmasullevimeot
ool GLnsmeor_flwm 2_oiTer s

C) eowCuwm@GemrmilesT Himidlseiflev
Smller O&dley Silsb
SpUUSITEL

D. &GumoLl_@Lm@uniser 2_eremsimey
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58. Intercalated

57. Which of the following is most widely

distributed in the body forming major
part

A) Connective tissue
B) Epithelial tissue
C) Muscular tissue
D) Nervous tissue

SlesTou(poucTaubmlcy 618  DiSls

SI6T6Y AOWIHGI 2 L6 SiemLUISI 66T
2 _(HoUNs &b WP&SEw
Slap &g

A) Someworiy SHla

B) 61915 65wu6b Slar

un&sLDNS

C) som& Sla
D) bbby Sla

are the
communication junctions between the
cells of

discs

A) Cardiac muscles

B) Striated muscles

C) Adipose tissues

D) Nerve tissues

@ &6vLeSlemL 551 (h &6l 6T6OTLIEN 6
6Ths O&FLEHOHEHE SemLGw 2 eiror
@sLiiy &HSIIYE6T (&b

A) &5W 5605 &6iT

B) 6uifl$ & oma &eir

C) Siq UiBureiv Sl& & e oir

D) b S\ & &t
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59. The most appropriate definition of

Neuroglial cells are that they are

A
B
C
D

Non sensory supporting cells
Secretory cells

Sensory cells

Sensory and supporting cells

N— N =

by Grméserflwey ©\ 5608 (6H & &T6E0T
Blseb OQUIIHSSLNET CIEDTWIEDMD
6T6OTUS)] <H6DI6UE6IT

A) 2_coorii&Flwbm glemeoor ©\&608 6T

B) &riy @ &evaeir

C) 2_ocwiiie] G\&F6us6ir

D) 2_ewriSlmesT ©&mesor_emey Wb mib

H160600T (015 6LE6IT

60. Except blood, the cells of connective

tissues secrete certain substances that
act as matrix. These substances are

A) Conjugated proteins

B) Signalling molecules

C) Cholesterol

D) Modified polysaccharides.
81556066 ol
Slabsefleor @acvser Gl _fléeons

SomeoorUiy
(Boru@uNRoTTs)  GFweuRD  Hov
@unpL_somen &réSledimest. Sbhs
@unpL_s6ir

A) &ocmeoora)U LT Sbhis6iT

B) &1518 6m(6h e 6v 8 &6 M) 6iT

C) @&meveivl”_[rmev

D) wnihdlwemndasiiul_L

uneS1&mE & 6o (1) &61T.
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